Balanced Distribution Index - Used if PLAYED FROM FIRST TEE

Stroke Difference

18

2812

34812

4481216

548101216

6468101216

7468101214 16

82468101214 16
92468101214 16 18
1024678101214 16 18
1124678101112 14 16 18
122346781011 1214 16 18
1323467810111214 1516 18
1423456781011 1214 1516 18
15234567810111213141516 18
162345678910111213141516 18
172345678910111213141516 17 18
1812345678910111213141516 17 18

Balanced Distribution Index - Used if PLAYED FROM TENTH TEE

Stroke Difference

117

2173

313173

4131737

51317137

6131517137

71315171357

8111315171357
9111315171357 9
10111315161713579
111113151617123579
121112131516 17123579
131112131516171235679
1411121314 1516171235679
151112131415161712345679
1611121314 1516171812345679
171112131415161718123456789
181011121314 15161718123456789

Worked Example:

If played from the 10th tee. If the handicap difference between the players is 7, then stokes will be
awarded on holes 13,15,17,1,3,5,and 7.

If played from 1st tee. If the difference between the players is 5, the stokes will be awarded on holes
4,8,10,12 and 16.

DON'T HESITATE TO ASK FOR ASSISTANCE FROM ANY GCDGA EXECUTIVE



